In Exercises 9-20, state the property illustrated.
Nf AB = BC, then AB + OR = BC + OR.

10. JIf AB = BC, then AB— OR = BC — OR.
11.jIf 5x — 7 = 23, then 5x = 30.

12, [If v — 19==21, then y = 40.

13.JIf 2(¢ + 8) = 1, then 2+ 16 = 1.

144 If 7x = 91, then x = 13.

158 If 4{x + 9) = 5(x + 4}, then 4x + 36 = 5x + 20.

16 If 49 = 147x, then § = x.

178 2x-+6=x—2, thenx + 6 =—2.

184 If 3x + 8 =x + 12, then 2x =4,

1% If m/ A =40, then 3 ms A4 = 120,

20, fmsAd=ms Band ms.B=ms C, thenms 4 =mzs C.
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in Exercises 21-24, state the missing reasons for each proof.

tatements Reasons 22. Biatements Reasons '
1 dx+20=—4—12x | 1. Given 1. %(12+6) —x=3 | 1. Given
2, 6x+20=—4 a1 2. 8+4—x=3 2, 2
3. 6x=—24 3.7 3 —x=-—9 3, 1
4, x=—4 4. 2. 4. x=9 4 2

23.Statements Reasons @Staﬂ%ments Reasons
1. 90 — x = 2x 1. Given 1. %x+x=25 i, Given
2. 90 = 3x 2 2 2. 3x=125 2. 2
3 30=x K S . 3., x=15 o 2
4. x =30 4, 2

- In Exercises 25-34, give the reason for each statement.
25, [ W= Loy =iiR W T
5. It W¥=.RL, then 7(WX)-=5(RT). e, D

:;.‘,.»-ﬁ.".f:_ . ,-/f
26. I 3(WY) Z4RT), and R ==HRT), and WS =L(wy), S
_thea=-RS = WS. /> T
s g/‘f"' “'~-..,\mJ
T A Y
2). If ms£2=ms 1, then mz QPS = mZ RPT. _ Q e
8 If mZ QPS = m4£ RPT, then m£ 2 =m< 1. v.,,,-w:j::i:‘.‘_.w..ﬁmp
Q@ Ifms2=mzs1,then 5 ms2=5ms 1. P ?::::,}:‘““‘““%im
| el
30./BC=BC A B ©C D
T ol

3 If 4B = CD, then AB + BC = CD -+ BC.,
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